5) INAKHERATE N W &' I &
EAHLTE |Aow.P—MRY| AR, K& KL +oEEE
. = X 5 5 fifi EFERXRE
A | g o o kR BE-RAEEAGER HED . -
(=4 — 3] il > =] =] ]
D | mm | B gm | BRW | e | POV ek | gmmk | eswe I THEL | HED WEER | EEm
REMBEmM| FS [ HIE | BFS [HE | BS [ | B | ¥E | B | ¥E | B | ¥IF | B | HIF | S | ¥F | S | ¥FE
EEEnd S )l | 2= [B5HRE 52.00 0 0
ZREHH AR = EE 52.50 655 655
| ZEHTH AR EJl EE 52.50+272 282 937
ZEHH AR ]l EE 52.50+345 73 1,010 A
| ZEHTH AR Bl LiE |BES 53.00 76 | 1,086 A
ZEHH AT = kF 53.00+5 5] 1,001 A
| ZEHH AR Bl ER 53.50 584 | 1675] 112 A
L AR ] EE 53.50+115 115 | 1,790 A
| ZEHTH AR EJl EE 53.50+155 40 | 1,830 A
L AR ] EE 53.50+307 155 | 1,985 A
| ZEHTH A Bl EE 54.00 193 2,178
ZEHH AR = EE 54.50 553 | 2,731
| ZEHTH AR EJl EE 54.5+421 421 | 3,152
REHH A =)l EE 55.00 30 [ 3182 241 A
| ZEHTH AR EJl EE 55.00+100m 100 | 3,282 A
REHH AT = P 55.00+200m 100 [ 3,382
| ZEHTH A Bl EE 55.00+350m 150 | 3,532 342 B
L AR ] kA 55.50 141 | 3673
| ZEHTH AR Bl EE 56.00 549 | 4,222
REHH AT = P 56.00+90m 90 [ 4312
| REFHH AZR EJl EE 56.0+386 335 | 4,647 343 B
ZEHH AR = EE 56.50 571 47041 .0 A B
| ZEHTH AR EJl EE 56.50+150m 150 | 4,854 A
L AR Z1 kA 57.00 345 | 5199 B 344 B
| ZEHTH AR EJl EE 57.00+30 30| 52290 .,
ZEHH A I kR 57.50 417 | 5646 B 390 |_H29
| ZEHTH AR EJl EE 57.50+95 94 | 5,740 B H29
REHH AR = EE 58.00 440 | 6,180
| ZEHTH AR EJl LE |[KFHB 58.00+149 148 | 6,328
ZEHH AR = EE 58.50 407 | 6,735 A B B
| ZEHTH A Bl EE 58.50+80m 80| 6815] |45 A B B 345 B
ZEHH AR = EE 59.00 469 | 7,284 A 257 B 257 B
| ZEHTH AR EJl EE 59.00+235 236 | 7,520 A B B
REHH AR ]l EE 59.00+450m 215] 7.735] 6 B B B
| ZEHTH A Bl EE 59.50 64 | 7,799 B 258 B 258 B
ZEHH AT = P 59.50+250 250 | 8,049 B B
| ZEHTH A Bl EE 60.00 212 | 8,261
ZE=HH N )l == [EIIE 60.00+200m 200 [ 8,461
| ZEHTH AR Bl EE 60.50 178 | 8,639
ZEHH AT = £ [E#)-%5)14857]61.00 0] 8639] 117 B
| ZEHTH AR EJl EE 61.00+5 5] 8644 B B B
ZEHH AR = EE 61.50 642 [ 9,286 B B B
| ZEHTH AR EJl EE 61.50+75 76 | 9,362 B B B
REHH AR ]l EE 61.50+185 110 | 94721 118 B 950 B 950 B 950 B
| ZEHTH AR EJl EE 61.50+285 100 | 9,572 B B B
ZEHH AT = P 61.50+375 90 [ 9662] 119 B B B B
| ZEHTH A Bl EE 62.00 76 | 9,738 B B B
REHH AR = P 62.00+100m 100 | 9,838 B B B
| ZEHTH AR Bl EE 62.50 417 | 10,255 B B 346 B
ZEHH AT = P 62.50+100 100 | 10,355 260 B 260 B B
| ZEHTH A Bl EE 63.00 411 | 10,766 B B
ZEHH AT = P 63.00+447 475 | 11,241 B B
| ZEHTH AR EJl EE 63.00+460 13 | 11,254 B B
REHH A =)l EE 63.50 28 | 11,282 B B
| ZEHTH AR EJl EE 63.50+730 732 | 12,014 B B
ZEHH AR =)l EE |EHE 63.50+320 0] 12,014 261 B 261 B
| ZEHTH AR EJl EE 63.50+470 151 | 12,165 B B
EEEDH AAN I ZE |ENEGEE)  |64.00 119 | 12,284 B B
| ZEHTH AR EJl £ |XE 64.00+290 291 [ 12,575 B B
REHH AT = P 64.00+470 173 | 12,748 B B
| ZEHTH A Bl EE 64.50 26 | 12,774
ZEHH AR = EE 65.00 421 | 13,195
| ZEHTH AR Bl EE 65.50 425 | 13,620
ZEHH AR ]l EE 65.50+125m 125 | 13,745
| ZEHTH AR EJl EE 65.50+310m 185 | 13,930 B B
ZEHH AR E EE 65.50+380m 70 [ 14,000 262 B 262 B 347 B
| ZEHTH A Bl EE 66.00 74 | 14,074 B B
REHH AR =)l £ |RiRE 66.50 561 | 14,635 B B B
| ZEHTH A Bl EE 67.00 552 | 15,187 B B B
ZEHH AR E EE 67.00+470 470 | 15,657 263 B 263 B 263 B
| ZEHTH A Bl EE 67.50 38 | 15,695 B B B B
ZEHH AT = P 67.50+300 300 | 15,995 B B B B
| ZEHTH A Bl EE 68.00 128 | 16,123 B
ZEHH AR ]l EE 68.00+50m 50 | 16,173 B
| ZEHTH AR EJl EE 68.00+265 215 | 16,388 B 348 B
ZEHH AT = KR [seAski e 68.00+270m 5| 16,393 B B
| ZEHTH AR EJl EE 68.00+440 183 ] 16,576 | 120 B
ZEHH AR = EE 68.50 70 | 16,646 B 264 B 264 B 264 B
| ZEHTH AR EJl EE 68.50+400 403 | 17,049 B B B B
ZEHH AR = EE 69.00 20 | 17,069 B
| REFHH AZR EJl EE 69.00+100 100 | 17,169 B
REHH AT = P 69.00+305 206 | 17,375 B B B B
| ZEHTH A 3 EE |[ZEHIIEHRA 69.50 91 | 17,466 B 265 B 265 B 265 B
ZEHH AR ]l kR 69.50+140m 140 | 17,606 B B B
| REFHH AZR EJl EE 69.50+540 398 | 18,004
BT AR 2l ki |EAE 70.00-174 0 [ 18,004
| ZEHTH AR EJl EE |HO2HFHB 70.00 174 | 18,178
ZEHH AR =)l EE |[TIVTRXE 70.00+440m 440 | 18,618
| ZEHTH A Bl EE 70.50 28 | 18,646 349 B
ZEHH AT = P 70.50+110m 110 | 18,756 B
| ZEHTH AR EJl ZiE [BIEGEE)  |71.00 375 | 19,131
ZEHH AR = EE 71.50 508 | 19,639
| ZEHTH A Bl EE 72.00 550 | 20,189
ZEHH A =)l EE 72.50 467 | 20,656
| ZEHTH AR EJl EE 72.50+457 457 | 21,113 B
REFHT| A EIl | Z£F [HiE 73.00 50 | 21,163 350 |—B
| ZEHTH A Bl EE 73.50 563 | 21,726 B
BT AR Bl EE 73.50+250m 250 | 21,976 B
AT AR 3 EE 74.00 251 | 22,227 351 A
AR AR = EE 74.00+100m 100 | 22,327 A
AT AR 3 EE 74.50 403 | 22,730
A\ A AR 1 k5 75.00 494 | 23,224
AT AR Bl 33 75.00+200 198 | 23,422
\ATH AR B L |EHE 75.00+271 0| 23422
\ATH S Bl £ [PriE 75.50 427 | 23,849 B B
AR AR = EE 75.50+230m 230 | 24,079 B B
AT AR Bl EE 75.50+340m 110 | 24,189 266 B 266 B 352 B
AT AR ] EE 76.00 159 | 24,348 B B
N\ATH S Bl £ BB 76.00+475m 475 | 24,823 B B
AR A = P 76.50 27 | 24,850
AT AR 3 EE 77.00 507 | 25,357
AR AZK = P 77.50 503 | 25,860
AT AR = EE 78.00 495 | 26,355
A AT 2K I 33 78.50 500 | 26,855
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AR AR EJl EiE |BAE 78.50+250 0 [ 27,050
\ATH AR E EE |TBiE 78.50+475 173 | 27,223
AT AR Bl EE 79.00 115 | 27,338
AR A E P 79.50 502 | 27,840
AT AR Bl ER 79.50+215 248 | 28,088
\ATH AR E L |EHE 79.50+270 0 | 28,088
AT AR 3 EE 80.00 269 | 28,357 B B
A\ AT A E P 80.50 486 | 28,843 B B
AR A = EF [RIE 81.00 485 | 29,328 B B
¥ Niil AN E P 81.00+100m 100 | 29,428 267 B 267 B
AT S Bl EE 81.00+250m 150 | 29,578 B B 353 B
A\ AT A E P 81.50 246 | 29,824 B B
AT S Bl EE 81.50+45 46 | 29,870 B B
AR A E P 82.00 462 | 30,332
AT AR 3 EE 82.50 528 | 30,860
AR A E P 83.00 482 | 31,342
AT AR 3 EE 83.50 502 | 31,844
A\ AT A E P 84.00 504 | 32,348
AT AR = EE 84.00+294 300 | 32,648
AR A B ZE 84.00+440m 146 | 32,794 B
AT S Bl EE 84.50 66 | 32,860 B 354 B
AR AT = EE 84.50+30m 30 [ 32,890 ] 121 B B
AT AR 3 EE 85.00 483 | 33,373 B
AR AR = ZE 85.00+11 12 [ 33,385 B
AT AR 3 EE 85.50 485 | 33,870
AR AZK )l EF 86.00 507 | 34,377
)\ AN T A El L 86.20 253 | 34,630
KT A HINETACE: 52.00 0 0
2T AR = aE 52.50 411 411 ] 122 A
EFTS A Bl aiE 53.00 233 644 | 123 B
2T AR =)l aE 53.00+25 25 669
EET AR Bl A [BEE 53.00+250m 225 894
EESTES AK HI A 53.50 413 1,307 359 B
EFTS A Bl aiE 53.50+300m 300 | 1,607
| A IRA AK )l A 54.00 364 [ 1,971 360 B
EFT A Bl aiE 54.50 550 | 2,521 ] 124 B
2T AR =)l aE 54.50+5 5| 2526 A
EFT AR Bl aiE 54.50+155 150 | 2,676 A 391 | H29
| A IRA AK ]l =3 54.50+265 110 | 2,786 | 125 A
IR A Bl aiE 55.00 87 | 2873 A H31
| 4R AK ]l A 55.00+220 220 | 3,003 A 392 [ H31
EFT AR Bl aiE 55.00+310 90 [ 3,183 H31
| 4R AK HI A 55.50 175 | 3358
| ZEHTH AR 3 aiF 56.00 965 | 4,323
REHH AR =)l aE 56.50 168 | 4,491
| ZEHTH AR 3 aiF 57.00 369 | 4,860
REHH AR =)l aE 57.50 305 | 5,165
| ZEHTH AR EJl aE 57.50+260m 260 | 5425
BT AR 2l P13 57.50+320m 60 | 5,485 361 B
| ZEHTH AR EJl aE 57.50+445m 125 | 5,610
REHH A E aF 57.50+512 72| 5682 B B
| ZEHTH AR 3 aE 58.00 259 | 5941] .6 B B B
REHH AR B aF 58.00+75 75| 6,016 B 971 B 971 B
| ZEHTH A JES]] BE [BERINER 58.00+108 o] 6016 B B
ZEHH AR =)l A (AP 58.00+250m 142 | 6,158 B B B
| ZEHTH A 3 aiE 58.00+280 30| 6,188 127 B B B
REHH AR =)l aE 58.50 247 ] 6,435 B 979 B 979 B
| ZEHTH AR EJl aE 58.50+375 375 | 6,810 B B
REHH AR =)l aE 59.00 80 | 6,890
| ZEHTH AR EJl aE 59.00+65 47| 6,937
ZEHH AR E AF |[sBIEHR 59.00+150 0] 6,937
| ZEHTH AR Bl aiE 59.00+200 76 | 7,013 273 B 273 B 273 B
REHH AR B aF 59.00+210 10 [ 7,023 274 A 274 B 274 A
| ZEHTH AR EJl aE 59.00+442 220 [ 7,243 B B B
L AR ] A EEE NG 59.50 47 7.290 B B B B
| REFHH AR EJl aE 59.50+290 291 [ 7,581 B 975 B 975 B 975 B
REHH AR =)l aE 60.00 263 | 7844] 0 B B B B 362 B
| ZEHTH AR EJl aE 60.00+50 50 | 7,894 B B B B B
REHH A E aF 60.00+175 125 8019 B B B B
| ZEHTH AR Bl A (BB 60.00+185 10 | 8,029 B B B
REHH AR E aF 60.00+295 111 | 8,140 976 B 976 B
| ZEHTH AR 3 aE 60.50 318 8458] ., B B B
ZEHH AR ]l HE 60.50+160m 160 | 8618 B B B
| ZEHTH AR 3 aE 61.00 270 | 8,888 B B B
ZEHH AR = HE 61.50 311 9,199 277 B 277 B 277 B
| ZEHTH AR EJl aE 61.50+145 144 | 9,343 B B B
L AR 2l P13 61.50+185 40 | 9,383
| ZEHTH AR 3 aiF 62.00 331 9714 363 B
TEFT N ] HiE 62.00+100 100 [ 9814 B
| ZEHTH AR 3 aiF 62.50 497 [ 10,311
REHH AR = aE 63.00 480 | 10,791
| ZEHTH AR EJl aE 63.00+170 170 [ 10,961
ZEHH AR ]l HE 63.00+180 11 ] 10,972 B B B
| REFHH AZR EJl aE 63.00+211 150 | 11,122 B B B 364 B
ZEHH AR = aE 63.50 361 [ 11,483 B B B
| ZEHTH AR 3 aE 63.00+100 100 | 11,583 B B B 365 B
REFH AR =1 AF |[E)IE(EE)  ]63.50+210 112 | 11,695 278 B 278 B 278 B
| ZEHTH AR EJl aE 63.50+370m 167 | 11,862 B B B
ZEHH AR = aE 64.00 20 | 11,882 B B B B
| REFHH AR EJl aiF 64.00+133 133 | 12,015 B B B 366 B
ZEHH AR E HE | XE 64.00+230m 97 | 12,112 B B B B
| ZEHTH AR EJl aE 64.00+340m 110 | 12,222 B B B
ZEHH AR =)l aE 64.50 139 | 12,361
| ZEHTH AR 3 aiF 65.00 556 | 12,917
L AR 2l P13 65.00+230 230 | 13,147
| ZEHTH AR EJl aE 65.00+278 89 | 13,236 B B
ZEHH AT = HiE 65.00+448 179 | 13,415] 130 B B B
| ZEHTH AR Bl A [BRNER 65.00+476 0] 13,415 B B
ZEHH AR = aE 65.50 75| 1349071 ., B B B
| ZEHTH AR EJl aE 65.50+370 365 | 13,855 B B B
ZEHH AR E aiE [EHE 65.50+430 0] 13,855 279 B 279 B
| ZEHTH AR 3 aiF 66.00 146 | 14,001 B B
ZEHH AR ]l HE 66.00+421 421 | 14,422 B B
| ZEHTH AR Bl HiF |HRE 66.50 45 | 14,467 B B
ZEHH AR = aE 67.00 449 | 14,916 B B
| ZEHTH AR EJl aE 67.00+340 351 | 15,267 B B
ZEHH AR = aE 67.50 176 | 15,443
| ZEHTH AR 3 aiF 68.00 1,122 | 16,565 267 A
| ZEHH AK E)l HE 68.00+90 90 | 16,655 A
AT AR 3 aiE 68.50 435 | 17,090
AR AR = aF 68.50+300m 300 [ 17,390
AR AR 3 aiE 68.50+460m 160 | 17,550 368 B
AR A =)l HiE 69.00 72| 17,622
AT AR 3 aiE 69.00+120 120 | 17,742
AT AR ] P 69.50 506 | 18,248 368-2| B
AT AR 3 aiE 69.50+45 45 | 18,293
A\ AT N E)l 5 |ERHNIEHS [69.50+110 0] 18,293
AT AR 3 aiE 70.00 389 | 18,682
\A T AR E £33 70.00+350m 350 [ 19,032
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A\ A N 1 5 71.00 506 | 19,690

AR AR Bl A (BB GEE)  [71.00+140m 140 | 19,830

AT TS ] P 71.50 344 | 20,174

AR AR Bl BE 71.50+529 529 | 20,703

A\ A N 1 5 |EAHER 72.00-380 0] 20,703

AT AR Bl BE 72.00 327 | 21,030

A\ A AR 1 55 72.50 460 | 21,490

AR AR Bl BE 72.50+400m 400 | 21,890

¥ i TS )| HF BB 73.00 118 | 22,008

i AR 3 A [BIIER 73.00+125 122 | 22,130

AT AR ] P 73.00+245 123 | 22,253

\ATH S Bl AiE |BHE 73.00+295 0| 22,253

AT TS ] P 73.50 245 | 22,498

AR AR Bl BE 73.50+190m 190 | 22,688 369 B

A\ A N 1 55 74.00 314 | 23,002

AT AR Bl BE 74.50 477 | 23,479

AT AR ] P 74.50+280m 280 | 23,759

NATH S I A EEYS 75.00 234 | 23,993

AT TS =)l P 75.50 513 | 24,506

¥ i AR Bl BE 75.50+400m 400 | 24,906

AT AR ] P 76.00 132 | 25,038 370 B

AR AR Bl BE 76.00+275m 275 | 25313

\ATH TS =] HF BB 76.50 290 [ 25,603 B B

\ATH S Bl BE 77.00 494 | 26,097 B B

AT AR ] P 77.00+245 246 | 26,343 B B

\ATH S Bl AiE |BHE 77.00+335 0| 26,343 B B

AT AR ] aE 77.50 212 | 26,555 280 B 280 B

\ATH S Bl BE 77.50+170 269 | 26,824 B B

AT AR =)l fE |EHE 78.00-488 0| 26,824 B B

\ATH S Bl BE 78.00 488 | 27,312 B B

AT AR ] P 78.00+100m 100 | 27412 B B

AT AR Bl BE 78.50 399 | 27,811

¥ i TS &)l HF | T 79.00 433 | 28244

AT AR Bl BE 79.50 451 | 28,695

A\ A N 1 5 80.00 485 | 29,180

AT AR Bl BE 80.50 616 | 29,796

AT AR ] 5 [RE 80.50+465m 465 | 30,261

AR AR Bl BE 80.50+510 36 | 30,297

A\ A N =) 55 81.00 58 | 30,355

AT AR Bl BE 81.50 254 | 30,609

AT AR ] P 82.00 429 | 31,038 471 A

AR AR Bl BE 82.0+200 0 [ 31,038 A

AT TS ] P 82.00+564 0 [ 31,038

\ATH S Bl A |BEHE 82.50-62m 0] 31,038

DA S E)l HE 82.50 486 | 31,524

AA T TS 2| P 82.50+125m 125 | 31,649

i AR Bl BE 82.50+345m 220 | 31,869 372 A

AT AR ] P 83.00 156 | 32,025

AR AR Bl BE 83.00+470m 470 | 32,495

AT AR ] P 83.00+486 19| 32,514 B B B

\ATH S Bl AiE |BHE 83.50 0] 32514 B B B

AT AR =)l P 83.50+150m 155 | 32,669 B B B

AR AR Bl BE 83.50+240 90 | 32,759 B B B 373 B

AT AR ] P 83.50+460m 227 | 32,986 B B B

\ATH S Bl BE 84.00 37 | 33,023 B B B B

AR AR ]l P 84.00+160 160 | 33,183 281 B 281 B 281 B 374 B

i AR Bl BE 84.00+440m 280 | 33,463 B B B

AT AR ] P 84.50 68 | 33,531 B B B 475 A

AR AR Bl BE 84.50+40m 40 | 33,571 B B B A

AT AR ] P 85.00 442 | 34013 B B B

\ATH S Bl BE 85.00+140 142 | 34,155 B B B

AT AR =)l P 85.50 429 | 34584

AT AR Bl BE 86.00 337 | 34,921

A AT AN I HE 86.20 173 | 35094




